9 Mile

330721 County Road E Minatare, NE 69356 Michael@schifffarms.com 3082208568 Estimate

1161

Date:

1/26/2023

Bill To

Schiff of Nebraska

Remit Payment To Primary

330721 County Road E Minatare, NE 69356

	Service Order	Purchase Order	Service Writer	Authorizer		er
	1161		Henwick, Michael			
Item	Description			Quantity	Rate	Amount
Complai	nt: Needs 2 x Drive axle hubs re	eplaced				
Cause: C	Customer request					
Labor	Correction: Rear Axle/Final Drives / Wi	neel Bearings / REPLACED DRIVE AXLE HUBS	AND PUT 2 NEW TIRES ON	3.00000	\$20.00	\$60.00
Parts	PRESET AFMKT HUB R D	R HP10 ABS - CON_10082218 - A		2	\$525.00	\$1,050.00
Parts	FREIGHT - FREIGHT - A			1	\$32.00	\$32.00
Parts	SALES TAX - SALES TAX	- A		1	\$75.74	\$75.74
					Subtotal	\$1,217.74
	Shop Supplies					\$0.00
	VIN: 2NKHHJ7XXGM493654 worth T3 Series		Labor			\$60.00
	4,700 Hours		Parts			\$1,157.74
			Subtotal			\$1,217.74
			Exempt (0% of \$1,157.74)			\$0.00
			Total			\$1,217.74
The deta further v will be a the abov	ails and the estimate for the vork or parts will be required available or the details available or repairs, either verbally signature:	I be charged for any core that is not in returnable cone repairs provided above are based or ed. The estimate is not a guarantee of the on completion of the repairs. Other terfor in writing, you agree to pay in full for	our first inspection and do not co the final price of the repairs. The ms and conditions as applicable.	onstitute a stotal bill of fill fill bill of the second se	guarantee f work and fi	nal price

9 Mile

330721 County Road E

Minatare, NE 69356 Michael@schifffarms.com

3082208568

Bill To

Schiff of Nebraska

Estimate

1429

Date:

8/28/2024

Remit Payment To Primary

330721 County Road E Minatare, NE 69356

	Service Order	Purchase Order	Service Writer		Authoriz	er
	1429		Henwick, Michael			
Item	Description			Quantity	Rate	Amount
Complain	t: PTO AND SHAFT FAILED - REPL	ACED PTO AND FRONT PTO SHAFT				
Cause: C	ustomer request					
Labor	Correction: Transmission / PTO / PTO AND	SHAFT FAILED - REPLACED PTO AND F	FRONT PTO SHAFT	3.00000	\$20.00	\$60.00
Parts	FLANGE YOKE - 017_N3-2-119	- A		1	\$39.26	\$39.26
Parts	SLIP YOKE ASM - 010_3-3-598	KX - A		1	\$124.75	\$124.75
Parts	FLANGE YOKE - 017_N3-2-119	- A		1	\$39.26	\$39.26
Parts	1350 U-JOINT - 017_2-0053 - A			2	\$37.24	\$74.48
Parts	KIT-BEARING-AC, XD - 031_32	9071 - 63X - A		1	\$231.63	\$231.63
Parts	280 NEW STYLE MODLE SEAL	. KIT - 031_329071-80X - A		1	\$190.80	\$190.80
Parts	PISTON-CLUTCH - 380110-1 - 7	4		1	\$410.33	\$410.33
Parts	SPRING 870 - 37-P-72 - A			1	\$21.46	\$21.46
Parts	CLUTCH - 379485 - A			11	\$12.11	\$133.21
Parts	CLUTCH PLATE - 380065 - A			10	\$13.81	\$138.10
Parts	SEAL KIT FOR 890 SERIES - 3	28948-36X - A		1	\$37.11	\$37.11
Parts	O RING ON PISTON - 28-P-178	3 - A		1	\$36.91	\$36.91
Parts	OUTPUT GEAR - 2-P-928 - A			1	\$348.85	\$348.85
Parts	WASHER - 31-P-70 - A			1	\$11.79	\$11.79
Parts	FLANGE - 3-1-3431 - A			1	\$395.57	\$395.57
Parts	SHOP SUPPLIES - SHOP SUP	PLIES - A		1	\$5.50	\$5.50
Parts	LABOR - LABOR - A			1	\$55.00	\$55.00
Parts	LABOR - LABOR - A			1	\$264.00	\$264.00
Parts	SHOP SUPPLIES - SHOP SUP	PLIES - A		1	\$26.40	\$26.40
					Subtotal	\$2,644.41
Complair	nt: REPLACED 80SUPH CHAIN ON	MIXER	ордород до стор ород о до ордого ордого ордого так от от от от от от от от ордого орд		3507-305 4-0-31-31-31-4 7 -33-31-31-31-31	
Cause: C	ustomer request					
Labor	Correction: Chassis / Chassis / REPLACED	80SUPH CHAIN ON MIXER		1.00000	\$20.00	\$20.00
Parts	80 SUPER HEAVY TSUBAKI -	122369		2	\$311.91	\$623.82
Parts	80SUPH CONNECTING LINK -	124235		2	\$22.79	\$45.58
					Subtotal	\$689.40

Complaint: REPLACED STEER AXLE BRAKE AND SLACK ADJUSTER

Cause: Customer request

Item	Description	Quantity	Rate	Amount
Labor	Correction:	3.00000	\$20.00	\$60.00
	Brakes / Brake Shoes & Drums / REPLACED STEER AXLE BRAKE AND SLACK ADJUSTER			
Parts	REMAN SHOE KIT - RXRK4709E2STD23M - A	1	\$78.81	\$78.81
Parts	KIT-SLACK ADJUSTER - AS1132 - A	1	\$128.00	\$128.00
Parts	REMAN SHOE KIT - RXRK4719ESTD23M - A	2	\$78.81	\$157.62
Parts	KIT-SLACK ADJUSTER - AS1132 - A	2	\$128.00	\$256.00
			Subtotal	\$680.43
Complaint:	REPLACE POWER STEERING PUMP			
Cause: Cus	stomer request (Inspection)			
Labor	Correction:	2.00000	\$20.00	\$40.00
	Front Axle & Steering / Power Steering Pump / REPLACE POWER STEERING PUMP			40.17.10
Parts	PUMP POWER STEERING - PEV1816-15R101 - A	1	\$817.13	\$817.13
Parts	PUMP GASKET - 4988280CUM - A	1	\$4.47	\$4.47
			Subtotal	\$861.60
Complaint:	REPLACED THE WHOLE DEF SYSTEM TO GET IT WORKING AGAIN			
Cause: Cus	stomer request (Inspection)			
Labor	Correction: Exhaust / DOC & DPF / REPLACED THE WHOLE DEF SYSTEM TO GET IT WORKING AGAIN	12.00000	\$20.00	\$240.00
Parts	PUMP DOSER - RX4387304RXCUM - A	1	\$929.75	\$929.75
Parts	INJECTOR.D.OSER - 2888173CUM - A	1	\$421.11	\$421.11
Parts	SENSOR NITRO OXI - RX4326873RXCUM - A	1	\$501.82	\$501.82
Parts	COUPON CUMMINS GEN - MKU24AUH6597 - A	1	-\$10.00	-\$10.00
Parts	VALVE-EXH GAS RCN - RX5473296RXCUM - A	1	\$694.59	\$694.59
Parts	SENSOR NITRO OXI - RX4326872RXCUM - A	1	\$478.16	\$478.16
Parts	COUPON CUMMINS GEN - MKU24AUG6597 - A	1	-\$10.00	-\$10.00
Parts	SENSOR-NIT ROGEN - RX4326874EXCUM - A	1	\$464.17	\$464.17
Parts	COUPON CUMMINS GEN - MKU24AUG6597 - A	1	-\$10.00	-\$10.00
Parts	SENSOR NIT ROGEN OXI - RX4326869RXCUM - A	1	\$464.17	\$464.17
Parts	COUPON CUMMINS GEN - MKU24AUG6597 - A	1	-\$10.00	-\$10.00
Parts	SENSOR-URE A LEVEL/T - 350247WMA - A	1	\$242.44	\$242.44
Parts	FREIGHT - FRT - A	1	\$55.00	\$55.00
Parts	FUEL SURCHARGE - FSC - A	1	\$4.12	\$4.12
Parts	O-RING 56M M X 6.2MM - 01610601 - A	1	\$12.62	\$12.62
Parts	FUEL SURCHARGE - FSC - A	. 1	\$4.12	\$4.12
Faits	, , , , , , , , , , , , , , , , , , ,	·	Subtotal	\$4,472.07
Complaint	: REPLACED OIL PRESSURE SENSOR AND DRAG LINK			
-	stomer request (Inspection)			
Labor	Correction:	2.00000	\$20.00	\$40.00
	Front Axle & Steering / Drag Links / REPLACED OIL PRESSURE SENSOR AND DRAG LINK		444 - 1	AAF
Parts	SENSOR OIL PRES - 4921517CUM - A	1	\$95.54	\$95.54
Parts	FUEL SURCHARGE - FSC - A	1	\$4.12	\$4.12
Parts	DRAGLINK-S ET FWD CO - j20-6004-003 - A	1	\$443.33	\$443.33
Parts	SE4NSOR-PRE SSURE - 4928594CUM - A	1	\$150.85	\$150.85
Parts	FUEL SURCHARGE - FSC - A	1	\$4.12	\$4.12
			Subtotal	\$737.96

Shop Supplies		\$0.00
Unit: 207 VIN: 2NKHHJ7XXGM493654 2016 Kenworth T3 Series	Labor	\$460.00
Engine: 14,700 Hours	Parts	\$9,625.87
	Subtotal	\$10,085.87
	Exempt (0% of \$9,625.87)	\$0.00
	Total	\$10.085.87

Quantity

Rate

Amount

Customer Signature:		
Printed Name:	Date:	

Description

Item

^{*:} Core charges not included in total. You will be charged for any core that is not in returnable condition. This charge may be applied on a separate invoice.

The details and the estimate for the repairs provided above are based on our first inspection and do not constitute a guarantee that no further work or parts will be required. The estimate is not a guarantee of the final price of the repairs. The total bill of work and final price will be as per the details available on completion of the repairs. Other terms and conditions as applicable. If you authorize us to perform the above repairs, either verbally or in writing, you agree to pay in full for the work performed and parts required.

9 Mile

330721 County Road E Minatare, NE 69356 Michael@schifffarms.com 3082208568 Estimate

1166

Date:

2/5/2023

Bill To Schiff of Nebraska Remit Payment To

Primary

330721 County Road E Minatare, NE 69356

	Service Order	Purchase Order	Service Writer		Authoriz	er
	1166		Carrier, Greg			
Item	Description			Quantity	Rate	Amount
Complair	nt: Replace, Air dryer filter.					
Cause: C	ustomer request					
Labor	Correction: Brakes / Air Tanks / REPLACE DRYER	D AIR DRYER FILTER AND AIR HOSE THAT F	RUNS FROM STEEL LINE TO AIR	3.00000	\$20.00	\$60.00
Parts	950011K - 950011K - A			1	\$0.00	\$0.00
Parts	VALVE-RELAY RG2 *D - 1010)/WAB WKN28510 - A		1	\$91.88	\$91.88
Parts	BALDWIN FILTER - 760_BT88	380-MPG - A		1	\$88.61	\$88.61
Parts	SALES TAX - SALES TAX - A			1	\$6.20	\$6.20
					Subtotal	\$246.69
Complair	nt: SERVICE				ranna 4 m - maraphila superbut Armo bust	
Cause: C	ustomer request					
Labor	Correction: Engine / Lubrication / Basic W	et Service		1.00000	\$20.00	\$20.00
Parts	6429 - 6429 - A			1	\$17.82	\$17.82
Parts	6433 - 6433 - A			1	\$25.24	\$25.24
Parts	FUEL FILTER - 3604 - A			1	\$59.65	\$59.65
Parts	FF63054NN - FF63054NN - A			1	\$54.63	\$54.63
Parts	OIL FILTER - 1748 - A			1	\$74.70	\$74.70
Parts	Mobil 15w40 - S80600 - A			5	\$16.90	\$84.50
					Subtotal	\$336.54
Complair	IL: REPLACE ALL CHAINS - 100,1	20,140 3UPH CHAIN				
Cause: C	ustomer request (Inspection)					
Labor	Correction: Chassis / Chassis / REPLACE	ALL CHAINS - 100,120,140 SUPH CHAIN		3.00000	\$20.00	\$60.00
Parts	100 SUPH CHAIN X 126 PITC	H - 123054		1	\$1,073.68	\$1,073.68
Parts	120 SUPH CHAIN X 82 PITCH	I - 123055		1	\$1,207.24	\$1,207.24
Parts	140 SUPH CHAIN X 112 PITC	H - 123056		1	\$2,341.46	\$2,341.46
					Subtotal	\$4,682.38
	Shop Supplies				randan andarandan ang sagan and sagades	\$0.00

Item	Description	Quantity	Rate	Amount
	VIN: 2NKHHJ7XXGM493654 orth T3 Series Labor			\$140.00
Engine: 14	,700 Hours Parts			\$5,125.61
	Subtotal			\$5,265.61
	Exempt (0% o	of \$5,041.11)		\$0.00
	Total			\$5,265.61

^{*:} Core charges not included in total. You will be charged for any core that is not in returnable condition. This charge may be applied on a separate invoice.

The details and the estimate for the repairs provided above are based on our first inspection and do not constitute a guarantee that no further work or parts will be required. The estimate is not a guarantee of the final price of the repairs. The total bill of work and final price will be as per the details available on completion of the repairs. Other terms and conditions as applicable. If you authorize us to perform the above repairs, either verbally or in writing, you agree to pay in full for the work performed and parts required.

Customer Signature:		
Printed Name:	Date:	